The world consists of person and gift objects.  On Valentines day, a person will have at most one date.  There are 8 predicates and one function in this world:

Person(x) – true if the object is a person
Gift(x) – true if the object is a gift
Male(x) -  true if the object is male
Female(x) -  true if the object is female
Flower(x) – true if the object is a flower
Candy(x) – true if the object is candy
HasDate(x) – true if the object has a date
Give(x,y,g) – true if x gave y the object g
Date(x) – function that returns the date of object x

Suppose Jack, Jill, and ThisBoxOfCandy are object symbols.  Specify the first-order logic sentences for these English sentences:

a. All males have dates who are females.

________________________________________________________

b. Jack gave a gift to each of the females.

________________________________________________________

c. Some person gave ThisBoxOfCandy to Jill and we are sure that he is not Jack.
________________________________________________________

